(BIR4) BKTERESE

S7ES 298 R
Bl i A ki M & R e AT HRI & DR
EEILER NERTNE W ER )| R i5=26.4, BLEAIFRiE=8, B2mE=(7, 5), -
BHB)IFRE=173, F8)I =191, IFRIE= (5, 5.1),
BFE)5hi=6.3, $h)II5E1=78, HE)IFRE=0, 6.1)
& B )IlfE=6.3
K7 ERET RAEB)FRE=16, E&E)IIFRE=12.3, BBl E=(5, 4.6), -
B9 ¥ SREi=4.6, FAERIER )| RE=8.5 FIERIER I FRE=(6, 6.4)
EEWE AT RERIIRI=13.3, Fia)liiZ%=18.7, #iallEE=(5, 17), -
HRIFE=16, 811 7Ei=79, fg)I17k=(5, 7.7),
B )IFRE=0.1, E18)IRE=8, &A)IGRE=(5, 8),
BIFRIE=13.9, H 01 Fi%H=34, FDNFE=(6, 2.6),
AIFRE=5.9, JIIRIIIFRE=55, NERIFE=(6, 4.4),
RBALER)IIFRIZ=6.6, /\KJIIFigi=9 I\KRNIFRLE=(5, 9)
de 3k ARRNRE=9.3, XE)IFE=184, AR BIIRIE=(6, 5.4), -
Bl 5Ri5=13.3, FUE)IFE=11.3, KEP)IIRE=(5, 14.7),
HeilHh)IFRE=17, K AI5RE=5.9, F IR = (5, 13.3),
HHE)Rig=8.2 TR E=(5, 7.4),
A= (5, 13.6),
K ZA0)I15RIE=(6, 4.3)
tERET ZARANFE=9.2, ;B HI7E=46, AARBIIFRIE=(5, 5.9), —
FE)IIFRE=18.6, E)IlFEi=10.1, IR = (5, 3.6),
K )IFRIE=6.2, 7R )IFiE=6.4 R IR E=(5, 15),
B)IIRE=(5, 8.1),
FEHE)I 4= (5, 5.9)
FEERET T F I 5aE=20.6, BEE&R)IIFiEi=7.4 — —
ZET =106, #JIEH=9.2, EBRIIE=(5, 9.6) =
BB I5k=14.4, F)II5RE=1.3,
EBWIIRE=9.6
EETEED FARITHT [EOIRE=6, XBS:Z)IFRE=11.1, KR Fetgi=(5, 4) —
HE I FR=9.3, Frf)IIFRE=5.1,
xmﬁﬁ&;ﬁﬁt:& EEIIGRE=11.4,
KiRIF8=6.1
=S HARE=11.2, BF)IFRE=57, R RE=(5, 11.2), —
HRIRE=48, $25)IIRHE=145 125 )Iimi=(5, 14.5)
SN ET BHNIGRE=6.5, Po)llE=3, BENIGRE=(6, 5.2), —
FHREL=6.8, MM JIIiRE=24.5 FOD)IFRE=(5, 2.9),
F#IRE=(5, 6.5),
PRI 5= (5, 24.5)
AT RET 8 )115%15=8.5, #£%)Il#1E=5.6, AEAIIFRE=(6, 14), -
AEAINFE=175, BH)IFEH=6.5, EHIRE=(6, 5.2),
M )5RiE=8.7 MBRE=(6, 7)
[ITERS I\EHTEER FERAIFE=5.7, RH)lFE=11.6, B Il5keE=(6, 9.3), —
AR RE=9.5, #iBAIIFRE=13 HIBWNIIRE=(5, 13)
S8 BBNFRE=7.7, b7 FA)IFE=1.6, - #EMAN[ES-S£]
FIADFA)FE=44,
TAA4T YT FRE=10.3,
7Jr:/\7347\y7l’ut|i§ﬁ:7.4,
FrouRN]IliRE=-14.4
B1-7ET EEIR)IRE=14, R B B )I=8.9, BEEYR = (5, 114), BEFBNISE]
FIB B A )RE=10, Bi5H)IFEE=108, A= (5, 10.2),
KA@)IIFE=10.2 BEFBFRE=(5, 32.9)
EmEs STERT [ERERNIR5=32.9, #R)IIifkigi=4.8, [ERERFRik=(6, 26.3), -
BRJIIFRE=5.6, j8)I17ii=48, fim)1im3gi= (6, 3.8),
LEMNJIRE=7.2 BRI E=(5, 5.6),
A= (5, 4.8),
LERJI1FREE=(6, 5.8)
L /EfT B&/IIFE=10.1, XF/IFE=16.1, B&JIRE=(5, 7.7), -
INRTENRE=8, RIE)IIFRI=21.3 KB )IIR=(5, 12.9)
[EiRERET [EiRER)FR1i=29.8, REF = )II7itE=16.3, [EiREBIIFRE=(7, 236), -
B)IFRE=151, BT )IFE=116 R E)IRE=(5, 126),
BIIFRE=(5, 11.7),
I I5RE=(6, 9.3)
ZERET KIE|7E=134, MEN78=9.2, KIFREL=(5, 134), =
SEIFRAE=145, /MIRE=7.7, INER = (5, 9.2),
RAF)NF14=9.6 tEJlliu:Lg:(s, 145),
INIGRE=(5, 1.7),
ZERF)IRIE= (5, 9.6)
BLURRS B FET S5 5Rt=5.4, BEA)IIFR=3.9, — —

FAIFE=4.7, EE)IFE=8

T UREMEEY REREER OAAhEICKIEEEERLTVET.




